Fake rate vs hit

Duplicates Rate vs hit

Pileup rate vs hit

e e 0.0% = Tyt Tt
I - 0.009f I :
osf fnid 0.008f osf
I N 0.007F I
0.6k L 0.006f- o6f
: Do 0.008f [
0.4k I 0.004F 0aF
L 1IN T 0.003F :
0.2F--4 l’ B B SRR 0.002F 0.2k
i { + : 0.00 [
e e I ® R SF
15 Do Do
1 0.5 - - - - -2~ . - =
3 “H Do Do
l Ao 1T H H H : : H : : H o8p H T N =
%5 10 15 20 25 30 35 40 © 10 20 30 40 50 60 70 80 0 5 10 15 20 25 30 35 40
DM TT_CKF
M_TT__mKkFit
D M_TT—CKF_BDT
[[Fake rate vs 14 M_TT__mkFit_BDT
0.8 0.0% P
07 0.009
0.008
06 0.8
0.007,
05 0.006 06
0.4 0.005
04l 0.004 04

Fake rate vs 3D layer
0.8,

0.7

0.6]

0.5]

0.4]

0.3]

0.2]

0.

=

0 2 4 6 8101214161820

Duplicates Rate vs layer

0.0%

0.009]
0.008]
0.007]
0.006
0.005j
0.004]
0.003]
0.002]
0.00%

q

12 14 16

18

20

1

!

: T D
2 4 6 8 10 12 14 16 18 20



	Contents
	Page 1


